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SN AL
M HAMH2H(EH/2A9T)
el 2HEH 2gac (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
=R 9,524,693 8,446,005 1,078,688
= 360,890
N 309,157
Jl 1,773,193
< 629,113
T 6,200,618
= 251,722
SAYF2H(LA/L2H2R) 2,667,948 2,119,855 548,093
= 313,372
Xl 38,412
Jl 61,108
< 200,55
Ea 2,042,908
= 11,592
SAHY 22 662,909 761,717 08,808
Xl 1,412
Jl 1,043
< 18,706
[Ea 630, 156
= 11,592
BAL BRE 137,500 118,500 19,000
201 fet=23y| 3,000 4,000 1,000
02 S3=gHl 3,000 3,000 0
O2z&t| =l 300,000& %105 3,000
307 212+01& 114,500 114,500
0122 & 3=l 110,500 110,500
oz s FY 69,500
—2AL 1,000,000& 1,000
—2AX A 3,000,000 *37H 2= 9,000
—2ANEA 3,500,000 * 1504 2~ 52,500
—SHNE AF(EAL, BAXL)
1,000,000 #7942 7,000
Ogilg A28 +#Y 29,000
—2AL 1,000,000& 1,000
— 22X 1,000,000 694 2 6,000
—EAi=A 1,000,000 * 1500 2 15,000
—SHHAIE ABE(BAL BHAL)
1,000,000 #7904 7,000
Oosclxlz 225 +¢
100,000& %105 1,000
OgAl & =X 423 7
500,000 <22 1,000
OEAXNS dHl&E 2
5,000,000& 22 10,000
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¥ 2HAY2I(E2H/22H28)
el 2HEH 2gac (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
6 2= 4,000 4,000 0
OEATBA olZHiA M D
4,000,000& 4,000
405 KHoHFSH| 20,000 20,000
01 ML ESFSHI 20,000 20,000
o2z &dl 7 20,000,000 *1IH £ 20,000
SAM(PRFEH]) 20,440 22,360 1,920
203 =] 20,440 22,360 1,920
01 D22 HARFA| 3,300 3,300 0
OJ|22gg =2t 3,300,000& 3,300
02 FRIHAA =AY 3,880 4,000 A120
OFatatd e =4l
40,0002 97 3,880
MU A2 LRSI 13,260 15,060 21,800
OFRANEgg =AY 13,260
—224 FEANSSLRFEHI(332!)
387,000 1204 & 4,644
—EAHI N FASELRFIH|(322!)
357,5003 1204 4,290
—oIAA N FASELRFAIH|(229!)
247, 50031204 2,970
—Zggae|)t FASELRFAHI(102)
113,000 * 1204 & 1,35
SAFM JREM2Z2XH(I24]) 423,063 442,107 A19,044
101 @124H| 423,063 442,107 A19,044
M OIRINZZE2NSE S 423,063 442,107 19,044
OFEA & AlZ2t2] JI2HMZ22 X 2124 84,343
—Jl2= 80,2403 x3%H 255 61,384
—F5=4 80,2403 x38 53 12,759
—AlRI2EE 200,000 x3E 1201 2 7,200
—HEIII 500,000& x3E *23] 3,000
OXEEAHEY =X JIZHMZ2 2+ el24b| 34,189
—Jl2=s 2,465, 7003~ 1E 1204 29,589
—AlBI2EE 300,000 x1E* 1202 3,600
—SEFOHI 500,0002 1 +23] 1,000
OL2X4 JIZFMZZ2 X 12| 57,429
—JI2= 80,2403 x2H 2552 40,923
—F5=4 80,2403 x2E 53 8,506
—AlRI2EE 250,000 x2E 1201 6.000
—SEFOHI 500,000& x2E *22] 2,000
ORAHAEA JIZHNZZ A 2124H| 246,682
—Jl2= 2,992,800 61204 2 215,482
—AlBI2EE 150,000 x6E 1201 10,800
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el 2HEH 2gac (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—SEFOHI 500,000 x6 2«23 6,000
—E30H 200,000 x6E* 12042 14,400
OJ1ZtMZ22 X+ 1I=H| 70,0002 64 420
2AXL SR 2AHHE =& 6,000 3,600 2,400
202 04| 6,000 3,600 2,400
02 XN 6,000 3,600 2,400
ORI SR E2H0iY
200,000 x5 * 1201 2 x50% 6,000
ScIXIE AMHIA A (QI24H]) 71,592 71,592 0
= 18,000
Ea 42,000
= 11,592
101 @124H| 71,592 71,592 0
= 18,000
= 42,000
= 11,592
M ORINZZ2NSE s 71,592 71,592 0
O=cIXg JIZtHZ22 Xt el2iH| 71,592
—JlZ2= 2,405,500 «2E * 1204 57,732
= 17,320
= 40,412
—ME2EE 280,000 x2&* 1204 & 6,720
= 680
o 1,588
= 4,452
—SEFIHI 500,000 x2&H*23] 2,000
= 2,000
— =l 70,0003 x2&H 140
= 140
—&A= 2,500,000 x2H 5,000
= 5,000
OIS F X ZRIF (221012 ICT&2E & )AY 2,824 3,058 A234
N 1,412
= 706
o 706
201 fer= 3| 2,824 2,088 736
Xl 1,412
= 706
[Ea 706
01 AtR2t2|HI 2,004 1,260 744
Q2N AAXZ SHSE 7
10,0202 x200H 2,004
Xl 1,002
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BH: EAUTS (2 /FA|E)
Rl SAAE 2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OotsoPts =ot=8 X
300,000 *60H 18,000
Osttdds XN= 1,000,000 300 300,000
Osd0t A28 = K&
25,0002 «650H « 122 195,000
11 dAMEEIXIZE S 2,000 0 2,000
Oz Z20 2
1,000,000 *23] 2,000
14 DBt 23 10,000 0 10,000
Ot Az el usHl X2
50,0002 x20E %102 10,000
307 @I2t01 & 13,500 0 13,500
0122 & 3= 13,500 0 13,500
OB - L =27 Al X
1,000,000 *3H 3,000
O&tEEAL 22 25,0003 »40 1,000
O/ &M JIEH0F BAH R
50,00024+30% 1,500
Ol AH Pl 10,0002 x2002 2,000
OUISO0IHE shmetA 72l
100,000 +60& 6,000
AgrgolEad N3 227,000 0 227,000
= 147,000
< 24,000
s 56,000
301 EtE NS 227,000 0 227,000
= 147,000
== 24,000
[Ea 56,000
01 ARSI 2E AL S(SREXMH) 227,000 0 227,000
OHOI0|22 X
2,270,000& 100 227,000
= 147,000
== 24,000
o 56,000
A At AZ 22| NFAS 4,612 0 4,612
Il 2,306
== 1,183
o 1,183
307 212+01™ 4,612 0 4,612
Jl 2,306
= 1,183
o 1,183
0122 € /=4 4,612 0 4,612




2A: BHA
M SHAMY2Y(BH/BHAAR)
&Rl SHAE 2l EEED
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115,300& x40 4,612
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= 1,153
= 1,153
de O #H=IHE 018 8435t 3,010 0 3,010
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201 Lt | 3,010 0 3,010
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[ 2,408
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OCHHA S=31= JIYE FtS442 2N
X 60,2003 #5004 2~ 3,010
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i 2,408
KEREE AlSAHIA SXAI (HEHAIY) 35,364 40,079 A4,715
& 30,413
i 4,951
308 AXIHMSOIH 35,364 40,079 A4,715
& 30,413
i 4,951
13 BI 12 SOICHEH B A X LAE AL 35,364 40,079 A4, 715
OAIRAIMOL HZ22 XA /A 2(H &
Ared) 1,178,800 *30 35,364
= 30,413
i 4,951
AP Ao HZ2e X3 13,734 50,984 A37,250
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i 11,454
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Il 60
== 30
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0192 & 3=Hl 120 526 AN406
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307 212+01& 64 192 A128
Jl 2
=S 16
s 16
0122 € =4 64 192 A128
OMTA LHE A 2 2HI| X
64,0002 +14 64
2l 32
= 16
o 16
MOH=D| HZ2el(eldH]) 39,686 37,686 2,000
7l 19,843
= 9,921
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¥ PHAY2I(E2H/2H28)
Rl SAAE 2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
1 AREINES 12,000 0 12,000
OMO=D| S0ty =208 29
1,000,000& 128} 12,000
Il 6,000
< 3,000
= 3,000
307 elztol & 8,000 0 8,000
Jl 4,000
[ 2,000
T 2,000
012z & 3=l 8,000 0 8,000
OM=I A2 2| Aty F2H 7
20,0003 *400H 8,000
Jl 4,000
< 2,000
Ea 2,000
S 2 LEE AL 80,000 70,000 10,000
201 Ler23| 3,000 3,000 0
01 At2teltl 3,000 3,000 0
OSE ZL3HaMG =8 =235 728
30,0002 %100 3,000
206 M=l 1,000 67,000 66,000
01 M=4l 1,000 67,000 266,000
OS¢ gL3dAME Mzl 72
200,000 %52 1,000
301 EtE NS 76,000 76,000
03 AL 2 EH 263 (X ) 76,000 76,000
OSE FAZAAAMY 2SAIFH
760,000 x100H 76,000
SAHAE 2 565,160 106,500 449,660
N 37,000
= 9,250
= 508,910
sS0E A2 MEIA HE(BHSEXR) 55,500 0 55,500
N 37,000
[ 9,250
T 9,250
401 Al HIZL 201 55,500 0 55,500
N 37,000
== 9,250
o 9,250
01 Al&HI 55,500 0 55,500
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55,500,000 * 104 2~ 55,500
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s 9,250
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401 Al HIZL S 0HYI 80,000 60,000 20,000
01 Al&H| 80,000 60,000 20,000
OEZXAx UWE 25 SA
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OBAHIZ2A LR B ZA
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20,000,000 *1IH 2 20,000
SsARdE IIHNSE 22 39,660 25,500 14,160
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EZI AIEMNA
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LOIRAURH(EA/BAT) 2,715,904 2,694,831 21,073
= 37,763
N 145,745
) 1,103,204
= 315,781
= 907,703
= 205,708
LS el 270,358 27,214 AB56
Jl 125,980
= 17,708
o 114,700
= 11,970
NeAtelSs SHAAMEIA 100,800 116,850 A16,050
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2A: BHA
M LOIHUSH(HA/2AAR)
el ALSA 2 (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
| 13,900
T 2,780
= 11,120
11 HALAHIXI A2 27,800 30,850 A3,050
OSUNT BS +Y X3
52,0003 *5E 101042 26,000
| 13,000
T 2,600
i 10,400
O39I TR dZEs & 29|
200,000& * 12l 200
| 100
< 20
2 8
O30 DS VA 4g
100,000& 103 1,000
J| 500
= 100
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OBAW Zol T203 2HAl|
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SH: BAL
HE: LOIHURY(PAH/BAAR)
el OS2 2 EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
03 SR (RIHL) 22X 39,162 37,100 2,062
OFNASSTIHE AHLAY Z2E ol
2| 39,162
—J|I2= 3,060,000 *1E* 1200 & 36,720
| 18,360
& 5,508
= 12,852
—&03 1,221,000 15 *23] 2,442
| 1,221
& 366
= 855
M IIZINZ2 2 NS Es 28,810 29,172 A362
OBAAASTIME TULARS JI2H ol
2| 28,810
=Jl=22 2,560,000 *1H* 1001 & 25,600
| 12,800
T 3,840
[ 8,960
—AMIEEZ 300,000 x 18 %1001 2 3,000
| 1,500
& 450
o 1,050
—II=l 70,0003 *1H»23| 140
| 70
& 21
[ 49
—ot&store &otyl 70,0003 *1H 70
| b
& 1
[ 24
202 O4H| 600 600 0
| 300
T 0
[ 210
01 =LHOdH] 600 600 0
OFAMAL=XMHEH THaHTAIE SRE =
04| 600,000 *1H 600
| 300
& 0
= 210
M HAFRE3S 7,740 7,200 540
| 3,870
& 1,161
= 2,709
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SN BAL
A LQIAA2H(EH/2A9R)
el OS2 2 EER=E)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
[Ea 1,260
03 A= 5,000 10,000 25,000
O0tSE2E MEZSEIHEAE H=3
o 5,000,000& 12} 5,000
7l 2,500
= 750
o 1,750
301 22N 6,500 25,750 19,250
Jl 3,250
= 975
o 2,275
11 #AIAHIXIE = 6,500 25,750 19,250
OOISHAYE HAAYBTAIY T208
Ab =G 150, 000& »302 4,500
7l 2,250
= 675
o 1,575
O0tsE A JAALSIAY Z2 08 2F
AlH| 4,000 500 12 2,000
7l 1,000
= 300
o 700
307 212+01& 1,200 1,200 0
Jl 600
= 180
o 420
012z € /=4 1,200 1,200 0
O0tsEad Ay A & XzHl A
400,000 *3H 1,200
7l 600
= 180
o 420
SEHUALSE At 91,520 64,000 27,520
Jl 45,760
= 13,728
Ea 32,032
201 fet= 3| 74,320 52,400 21,920
Il 37,160
= 11,148
= 26,012
01 At2teltl 60,220 48,800 11,420
OUBES2NEAY 28 =3 78
5,0002*1,000K 5,000
Jl 2,500




od
i’
oF
uJ

-

Klo
El
E=)
Wi3r
uiied
RIS
O O N 0 Ql
% S5CEC SECE SOEE SEEE SEES EGER 8593 E58E ELE
-~ S ad - ©Bada < B4 - ©Yda - I$Nadw ©Ba = o= PPN
mmrﬁ
<
=
H = W = W = ~ = W = W SN SR S
= = = = ol = = = =
3 S 38 ] = S S S S
S S S S ol S S S S
™ i~ v 3 x o % =8 ™ M %
m/\.ﬁ ol ol o g ol 5 2 i @ 7l 0 W . {
2 ¢ "8 e85 w85 . 4§ 28 2§
. 5 O o 7o) 30 © L% m 0H v 0H «J 7S o N
3D s 0 0H RS =] =] b0 b
= 30 m S o < Ol =
< Ho 0H M o g« =< < 0
It o | < = = 7 o 30 w
= 3l <] <] R R 08 =
. 80 = 8 = ] A0 A0 - o
e 0K oy = z T B & e <
o] = oF Klo K K RO RO = 10
= < %0 o o ) A 00 =
oF i _ n 20 20 A iy u 0
Y ol o J ~ N [ o
o w0 2 il i = =nu or) = _
- U = é% =~ =~ i yr A or mo_mm
Rl 0lp ) o) Sal ) 8l 5D gr = 1Ko
RO = 20 H tio B - =K = = ok o S Ho
o O O O O O O O O O
"
I+




SN BAL
A LQIAA2H(EH/2A9R)
el OS2 2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 8%
OFNAS=XHE SHOIX SX 24
3,000,000& *12] 3,000
Jl 1,500
= 450
o 1,050
OR&0IE 2DHE 22/)
350,000 *7H 2,450
7l 1,225
=S 368
s 857
2 S524g4l 4,100 3,600 500
OSEHAALZTAIY O U Shje
5,000& 100 500
Il 250
= 75
= 175
ORODI= ARIXMEIANY THERTl 2
=] 300,000 *1CH* 1204 3,600
Jl 1,800
== 540
[Ea 1,260
03 Ar=EHI 10,000 0 10,000
ORODI= MFANY 2
5,000,000& 22 10,000
Jl 5,000
[ 1,500
T 3,500
301 LEtE NS 16,800 11,600 5,200
Jl 8,400
< 2,520
T 5,880
11 dALEEIXIRE S 14,800 9,600 5,200
OBO0DKs A2IIRMHIAAY 2HAlH|
4,000 x253 *402] 4,000
Jl 2,000
S 600
[Ea 1,400
OXNE=II 2 SAASXHAIY T2 14
28 IM =& 150,000 »362] 5,400
Jl 2,700
[ 810
T 1,890
OO0t N AHIAAY 28 227
8 AL =& 150,000 362! 5,400
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SN 2L
A LQIAA2H(EH/2A9R)
el OS2 2 EER=E)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
7l 2,700
=S 810
s 1,890
14 JIEt2 8= 2,000 2,000 0
OSUISIIS0ISAY eilol2l & okat
af 40,0002 »50H 2,000
Il 1,000
== 300
[ 700
405 AHAHE S 400 0 400
Il 200
s 60
s 140
01 KAtL SEH SH| 400 0 400
OFNAL=XHE SANEI| 2
400,000 1CH 400
Jl 200
=S 60
s 140
JHEE=ES Dot wd3XIE 224l K 2,000 0 2,000
= 600
s 1,400
307 glztol & 2,000 0 2,000
= 600
= 1,400
NEEEIEET 2,000 0 2,000
OJNFZ JIeHT DEXIZ ol=2H| X
2,000,000& %1 2,000
=S 600
s 1,400
FEAHS OiSdH ARE208 29 17,898 17,898 0
7l 17,898
301 EtE NS 17,898 17,898 0
Jl 17,898
11 dAMEEIXIZE S 17,898 17,898 0
OFAHE 01S2Y IKT2IY FIe)
298,300 +60 17,898
Il 17,898
OS2 XA 26,802 25,725 1,077
= 21,442
== 1,608
o 3,752
308 AHXIHMSO0IA 26,802 25,725 1,077
= 21,442




SN BAL
A LQIAA2H(EH/2A9R)
el OS2 2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 1,608
s 3,752
18 SIS0t & A AS A 26,802 25,725 1,077
OitSHZ XA 268,0203 100 26,802
= 21,442
< 1,608
[Ea 3,752
XI0H2t2 877,047 867,277 9,770
Jl 508,694
== 117,326
[Ea 251,027
At e 2 182,138 181,188 950
Jl 145,710
s 36,428
201 er23| 48,210 70,158 A21,948
Jl 38,568
= 9,642
01 At2teltl 40,290 62,438 N22,148
OXIHtAHIE! AIRESE 78
117,000& %102 1,170
Jl 936
s 234
OXISAt2EoM 2d92d2 =&
70,0003 x8EH*22] 1,120
Jl 896
= 224
OXIOHQtAMIES AEFE 257
5,000 %3001 *43] 6,000
Jl 4,800
s 1,200
OXIOfetaide 22 2wl 2 HE
- 25,0003 *4Z+200H 20,000
Il 16,000
= 4,000
OXlofeteiors 29
1,000,000 *20H 2 2,000
Jl 1,600
s 400
OXIHHHE MY EEZE 7Y
5,000 x4Z+500H 10,000
Jl 8,000
= 2,000
02 S3=4gl 3,920 3,720 200
OXIMH22IAIY 28 2 SRS
10,0002 *320H 3,200
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SN 2L
B oINS Y(PA/ 220 B)
Cel: XI0H2el EER=E)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
7l 2,560
2 640
OXIHQHIMIE BUIE W Qs
60,0002 1204 2 720
) 576
2 144
03 SHAI2 | 4,000 4,000 0
OBHIS XMW= 2II#A L XI0j2=0)
& A 2,000,000 #22 4,000
Jl 3,200
= 800
301 EtE N = 47,928 15,030 32,898
) 38,342
[Ea 9,586
11 #AIAMHIXI 2 S 15,000 15,030 A30
OXIHStAHIE Z22 2 2A =&
100,0002 *102 %102 10,000
Jl 8,000
[Ea 2,000
OXIDHStAHIE! 28 FARXF 2HA
5,000 %1,000 5,000
Jl 4,000
[Ea 1,000
4Bt 2as 32,928 0 32,928
OXIfot e ez =<
2,744,000~ 1E« 122 32,928
Jl 26,342
[Ea 6,586
307 lztol & 86,000 96,000 10,000
Jl 68,800
o 17,200
0192 & 3=H| 86,000 96,000 10,000
OXINZ=JIEE ZEHAHI
100,000 %100 10,000
Jl 8,000
s 2,000
OXI0H2el ekt &2 2
10,0003 25 +400H 8,000
Jl 6,400
= 1,600
OXIOEtA 25 EF 7
20,0002 x565+680H 68,000
Jl 54,400
s 13,600
XIDHOHAIMIE! 2 (2124]) 400,140 439,920 A39,780
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SN 2L
A LQIAARH(EH/2A9R)
Cel: XI0H2el EER=E)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
[Ea 29,400
307 gl2tol & 84,000 84,000 0
Il 42,000
= 12,600
= 29,400
02 2IZHBYAIHE X 84,000 84,000 0
OBRUHA KNS X2
84,000,000 *1IH £ 84,000
Jl 42,000
= 12,600
= 29,400
XIOHXI= 2eld] R (HEAY) 119,493 119,493 0
= 77,670
o 41,823
308 AHAIEHMSOIE 119,493 119,493 0
== 77,670
o 41,823
13 SI12S0He & A AS A 119,493 119,493 0
OXIONXIE 22l X2 (HEAL)
199, 1553 *600H 119,493
= 77,670
= 41,823
S5 A SS=AAE 1,090 1,850 AT60
Jl 872
o 218
201 ger=3| 1,090 1,850 AT60
Il 872
o 218
01 At2t2l] 1,090 1,850 AT60
OSSN =20l 234l & 24|
545,000 x2H 1,090
v 872
= 218
A2 XI0HeHHE 2 K& 12,040 5,680 6,360
= 3,612
o 8,428
301 eEetE2 N = 12,040 5,680 6,360
s 3,612
s 8,428
11 AALAHIXIES 2,040 680 1,360
OXIHeA € J1F OISXls 2208 &4
HE Xs 340,000 +6& 2,040
= 612
s 1,428




2A:
X XH -
o e

el

SA - Z3F - SRA(E) - HRAEY

- HyS

Ofl &F2H

MEE
Ofl &k2h

O
ﬂ
o
> 0
[z
@
0k
0e
x
=
| >
Ho
09

250,000& #402]

M

10,000

10,000
3,000
7,000

5,000

XOiXI= 2eldl K&

M

28,146
8,444
19,702

28,146

308 AHXIHMSO0IA

A H

28,146
8,444
19,702

28,146

183 S| 2SS & HAS AL
o

OXIOHXIZ 2eldl X

140,730 200

M

28,146

28,146
8,444
19,702

28,146

M

50,000
15,000
35,000

50,000

307 212t01&

M H

50,000
15,000
35,000

50,000

0122 ¥ /=4

OXIOHE At XIS 2teldl =t A&

200,000 »250H

M

50,000

50,000
15,000
35,000

50,000

&4

M

W

2,958,365
9,755
125,000
608,881
12,776
2,067,531
34,422

2,492,129

466,236

oy
02
0
el
It

&0

M

m

246,682
9,75
46,591
6,710
175,3%
8,230

361,670

114,988

SISDI00F Z2EE ol&2el

S

A H

30,600
2,300
2,300

26,000

56,600

A26,000

[
=K




SN 2L
M APYAL2G(EAH/BAHAZ)
el ZEY 2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 2,500 5,000 22,500
01 AfR22IH| 2,500 5,000 2,500
OTSIIWHTES oY 2 72
1,250 *4Z+5000H 2,500
307 @12H0| & 28,100 51,600 A23,500
Il 2,300
= 2,300
= 23,500
01 2g & 3=H| 28,100 51,600 A\23,500
OgETE HYSE 72
2,000 *2,300H 4,600
Jl 2,300
= 2,300
OTSIIWHLES OLtE S 7
3,800 *5,000H 19,000
ORIl S SHESX JITIH(100) 2L
150,000 *30H 4,500
gAY 2 500 4% 4
= 250
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1,000, 000& *7IH 2= *80% 5,600




A AL
T @ISR (F2AL)OIEHIIE)
&elr D=3l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—20| SAEx
530, 0002 * 127H 3 #80% 5,088
—NglE S| RN
9,000 *7CH*120H 2 «80% 605
-2 F3UA 2,500,000 *80% 2,000
Oxtgs=U 21,280
—=x 2,000, 0002 *3CH*B0f% 4,800
—SE(4E) 1,200,000 *13CH*B80f% 12,480
—st=2(4E) 2,500,000 *1CH+80% 2,000
—HA(OISEZ)
2,500,000 *1CH+80% 2,000
Oxtgrdtl & =Al2el
70,0002 *15CH* 120 2 +80% 10,080
O8Il dHA|BAN =2
200,0002 %12 200
ORI| QHHAAL 242
1,100,000& *22 2,200
O34 29 5,000,000& *12] 5,000
O&FM A5 EY 5,214
—2AAL 284,500 1204 & 3,414
—X2EBAHRA 150,000 * 1294 & 1,800
Oss8itg 28z 13,250
—5€ s8x 650,0003 * 14CH 9,100
—UE sgxt 1,050,000 *1CH 1,050
—S==xt 850,000 ~3CH 2,550
—A&" 3= 550,000 = 1CH 550
OBAANEOlS 2L
3,000,000& 3,000
202 04| 120,477 62,100 58,377
01 2L A LI 64,317 5,940 58,377
O2a RFH 20
20,0003 55 1200 2 9 x3(% 35,640
OE24 HIRFA 2204H]
110,000 x55 2 3L 53 x30% 27,225
O=S2H2AA 22104
110,000 x22E 2 x30% 1,452
02 A0 56,160 56,160 0
O=AXA, ASA NI
200,000 «19E 1200 = 45,600
S22 A0
200,000 x22F 1204 3 »20% 10,560
Jl2Zdul(2AHE M) 3,888 18,759 A14,871
201 eer23y| 3,888 3,45 432
01 AtR2t2|HI 3,888 3,456 432
OFAHEH PR IAH]
9,000 x9Z+60 *80% 3,888
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